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1. REVEE
HEEE 1,167,200 1,659,615 A 492,415
x IR £ 91,000 24,000 67,000
Bl O ® 0 72,050 A 72,050
nEEESE 1,258,200 1,755,665 A 497,465
2. BIE&EE
OEREAE 0
AWEMREME THHES 0
BEEE THHES 0 0 0
EAXMESE 0 0 0
QTnDthEEEE 0
24 & 0 66,000 A 66,000
ZOMEEEESET 0 66,000 A 66,000
BEE&EESE 0 66,000 A 66,000
BER 1,258,200 1,821,665 A 563,465
I &EOH
1. RBIAE
X o= 0 0 0
B 2 £ 8,000 0 8,000
B 2 = # 35,000 56,000 A 21,000
B Y £ 0 0 0
pik= A=) 43,000 56,000 A 13,000
RIEAE 43,000 56,000 A 13,000
I EBREAEDED
1.6 % IEBRBAE
IEEERMERST 3,303,618 3,303,618 0
2.— AR IE KRB A 2,088,418 A 1,537,953 A 550,465
IERRBFESET 1,215,200 1,765,665 A 550,465
BERVIEKRMKEST 1,258,200 1,821,665 A 563,465




